(RN
<

5}
g
S
)
o
107%E
107
1074
8 1:—' :
5 I :
0.5Ff------ e, AR —* ------------------
E - -!-.‘t - -n... o
C- ol .. P H
-1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf)

a(d cot(B))

8 5 e b
5 I T +
e B AU B
[ - T LoF
[ o T o F
ok T et res T | +
107 1

(SN
<

2 3
TP1|c9T (PCA t%obeamliné[f)

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

aoa, ) (cm)

-

1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

o(d d.) (cm)

o :
107 1

2 3
TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


